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Human Population Growth: 


Human Population increased relatively slowly until about _________.
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Our population is now at: _____________

It is predicted to be _____________ by 2050!
This a clear example of _____________________

(_____-shaped) growth.
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What factors have allowed humans to stretch their carrying capacity?

______________________

______________________

______________________
What impacts has stretching our carrying capacity had on other life forms on Earth?


Ecological Footprint: 
The __________ of the footprint depends on a number of factors:

·  _________________________________- land required to produce 
crops, grazing (pasture), timber (forest) etc. 

·  _________________________________- sea area required to 
provide fish and seafood.

·  ______________________- land put aside for extraction of renewable and nonrenewable resources (wind turbines, power-plants, mines, etc…)
·  ______________________- land already used up by buildings/roads

·  ________________________- land needed to preserve natural flora/fauna.
The average American’s ecological footprint is around _______ hectares.



(1 hectare = 10,000 square meters)

That’s larger than _______ football fields!
We may have a large footprint, but other countries have many more “___________”.
Human Pressure on Natural Resources:

Two types of Natural Resources:


Renewable-

Nonrenewable-
 Describe how coal and oil are formed:






Remind yourself: What is Carrying Capacity?








US population: 


328,842,000





China: 1,384,688,000





India: 1,296,834,000 





� HYPERLINK "http://www.census.gov/population/www/popclockus.html" �http://www.census.gov/� as of 10/22/2018 


 














